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History

Worldwide 375 min ha T Temperature rises
Mostly nature R After ice age Rational cultivation
Marginal agriculture Laguna environment Quick subsidence
Reclaiming leads to subsidence s L T Accumulated organic material Dike breaches
e Peat is formed Arable -> grass
Roman time - cultivation Profitable farming
9t century large scale cultivation Windmills
Forest to arable land Modern agriculture

Netherlands

0,3min ha

Mostly agriculture

Windmills, dikes, old farms, SRS
Parceling pattems, open landscape S 4
Old historic landscape 7

High nature values
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Peat in the world (375 min ha), Europe and
the Netherlands (0,3 min ha); also a typical

; Dutch peat polder with long parcels
Subsidence proces
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*Oxidation Agriculture no profitable
Climate change
Invisible proces Recreation & urbanisation

0,5 -2 m per century

Huge impact in flat country Solution:

higher water levels
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Every decade lower water level Consequences

Lower field level ‘Landscape change
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